1.

49 o] T3t e AW F 87 e ALY
® 12 9 2ot @ we 4 ok,
® A% 3 ok,

® 3t wrt 2},

@ 4 x4 x4 5 YepH Aoltt,



olp

126

108

2
@ 22x3 @ 22 x 32 @ 2x 32 ® 2x33

® 2x3



3.  AAPFU = {z]zE 10 o]5}e] AA5} o FEH3,
A = {z]oee F5Y A7t 370 odl A} A wll, n(A°) & FSholek



5 Hdg A = {zll<z<20d AR5} | B
{2l 2F4=0) 57t 270 ALY A of, (AN B) & Fshoiat



O FollA 60 of 29l A

Ao Hek2?
@® {2, 3} @ {2, 3, 5} ® {23 3, 5}
@ {1, 2, 3, 5} ® {2, 1, 1}






@ 52 x 72

® 22x5x7

® 80



8. 720 9 7t obd AL2?

O 22%x3x5
@ 2x5 @ 32x5

4. 93
@ 24 x3 ® 2x 32



9.

Al A= 2, 5, 8 8] o= Zlo= ol 1 o] H= 7}
H?

® 2 @ 16 ® 21 @ 41

® 80



10. Al 95 16, 18, 24 9] ol ZOE WprolE Lol WolX: 2pAs Fo) A
Vg AL S8 Folele,



11, FAA5 15 x 2, 21 x o 9] FAFu7E 210 € o, 2 9] o2 &2 A2

@ 2 @ 3 ® 4 @ 5 ® 6



12. 20=8, 7 =343 4 0}, b—a o] F& Falolet,



13.

5 2pQlse] HrjBer

ot

D 42

@ 49

G7F 7 o1, ol 420 & ®, o] F 9] FHAFHls

® 56 @ 60

® 63



14. 1+4+8+32 & o|xHe] =2 YERHH?

@ 111019 @ 1011012, ® 1000102

@ 101011y ® 1110015



[
ol

ol
o8

—_—

x
oig
Nfo

olp

15.

@D 3 & Agolt},

@ 17 24 AN 42 ARk AR5 E adet



16. 5 A94 A, B o AFRo} 12, AaTHSt 216 A W, A7} by AL
A, B 9| 3& 727 Fatelek (s A< B)



@ 1101 =1x 22 +1x22+1x1

@ 101100y =1 x2* +1x 22 +1x 2

® 1001 =1x2%+1x2

@ 110110¢3) =1 x2° + 1 x 28 +1x 22 +1 x 2

® 110100 =1 x 2* +1x 28 +1x 2



18. % 5:9) Fol 29 x 3 x 72 0|1, HPFFF7E 2 x 82 x 7 A W), F 5]

@D 2x3x7 @ 22x33x7 ® 2x32x7

@ 2x33x7 ® 2x3x7?



sholat,

?_

100m’

1000 m®




Hu
o

@ 25 =11001y) @ 21 =10101)

@ 13 =1101(y

® 53 =110111y)

@ 31 =11111(s)



7}2 9] Ao]7} 90cm, A2 2] ZAo]7} 144cm €

A

21.

1

el edo] e

™
=

7F E,

1)
1

o

o

@ 12cm, 35 7H ® 18cm, 40 7}

® 18cm, 35 7H

® 15cm, 30 7

@ 12cm, 40 7N



22.

7tz 9] Ao|e} Mz 9] Zo|7} Z+ZF 120 cm, 200 cm 9

SHste] WE 4 9 AAZY

sholat,

=
o

oA 7 = At

2]
7_|1-

Azt el el e g

@9 g W] golg 7



